MIZ S ElL) HO{Al= HICE

U2 CLg| 22N A=A 2 E U T o=

£ : 20084 128 152 (¥) 17:00:07 v
n nonmes e
ZoE . oppald 128 152 () 17-00:07 10 0] 215 & popmee@hanmail.net

111

“
| 1

AEl HIBtol IHS AR 2 = #2 UIHE S HY oAYR B +5 ZF Y
I

BN Tl MADIO OFFA S B, NIY AFEE U S HUE S 5%
Ay

HICHHI & ZHEHE0l =CH FHAIT 20| O e SHEd ZUE 42 = AZSE OtE Z2AkIC

O AR 2HS B FS{A1D GICHH E012t= LHAF0F s&0I0 =0| 22te 2240| Z0tAIAIRE
A= 20td ZARIZ 215 MEC0H sl S Al &= BoICH

DS AT TAFS D TS HEH LAl LOT HICIR LIZHs 01S0] Ut ZHACH BHAITHOf=
M2t J1420| BICHE (L2 2AC

Adl3srH FAsHLE 2401 ¢l=dl 2= o &

A2 E (2t 2HCHEE =HE 20l LY ZEE BHk= 2101 HE A &L
Eé,ﬂil}d 2K Z= 010 B2 2L BiICHIM= D2l &S 23E &= 20| FAl 2L



olrol ICHOME D QS BH TAE AT HEN S 2T 163, ACHH 12T, 2AS 430]
2Lt 2 SHCH 40CH 28, 500 8H=
RIBHD LIB 60CH Ol2¢ DE ZABTCH,

a2 f2FB 0] 2R CHE "iCher 220 012 HiCks &= CICICH ==2F 222 2CHEEL 24F 22 Lt
P EH 2 2|F= 20l Z0ICH

=01 F= (1T == (A LiM= A =202t =2 E=CH

AlHl EHE Li2l=2 #MA0I1E 22 7 2l= HiCh 2 S20(E SiCH

ChAl £ EAL 2=ME GH BICHH EHME 1197 2RSS "Bl &= 27| &2 32l 42
HECH ASAMH 2401 DA & 22 EZU T 240120 H= 2SS A EE0| 20t

T EDHD EE Y U0 BEMEN L] 2= BAIDHOIS AR BICIZ0| AU
[m]

H=E 4= 2= 018 ZotE2| 2 EWHAAEOFE MZ0l 2222 =2 MFsk= 2= Z0ICH
=il O 2222 7224 MN=5t0 7002HE = 2ot O =21 26F0| 302HE2] L Cho siCk
A= 021 FA & HICH-UE oS

2E=E 22 BIIE W HEAETH= HE J "2l Lt 2ICkD sict,
HICIE == £=201 HMEHEICE

= 2 CHE diChzl ORI Z IS8 E 0FF 2= LHZ Btk 43 240122 S22 €10 3

HI2H LHZICHSER &t

£l

<] Bt L= £Z 2212121 BiCt HEE =1 240

[m] [
Mo
11

ZIOMED| S0 =3I ==l HEE sjor

B 2012 018 Bs=
ENA 22= =2 ZICH

HT= A2f5t MBS &

| e

Iy

= HEAE 308 & a0l 23822 HE HIE0| &= J= CFE HEH2F JI=5tCt, SHAIEH =
A 20 L2 = Eld= et 2t 7oC 480 20T

T=MHIA CHAZDEA] ZEEICHD SHAIRE 2 A BICHH LDt 2= =22 &8 E =L

e
(o

“AHIDIH 0lZ=0] BiCH=E & HEAIEel B
a=2bi= 100kg 22!, 2= 30kg ZOIZE 3004

=t Z2| JiCi2t ot 22 CHED 2= A= 0k = ZCh
AT AECE



HMTICH 28 2212t 2474 ARz

A

I

ol
1l

o
E
k]
(i

2t HHCHH]

i
KF
alJ
rH
mo

ol
il

D

t

FAL SR

ol

. BICHE ARED]

2= 042

“O1 A

[}

=l &

ZHE=

88 =) ¢



